@  Tnspoims 4, B, C.Dhave ooordinates &7, 8, 3, -1, 6, 1), (& ~15) respeciively.

{o) Findthe gradient of AB. 21
(b)  Fing the equation of AB mnd simplify your answer. 3
{c) TFind the length of AB. A
{d) ThépomrEisthe mifi'-pc'mt of AB. Find the coordinzies of Z. {21
{e) GiventhatCDis perpendiculer o AB, find the value of the consiant & 141
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@ The points 4, B, C have coordinages (2, =13, 7. I, S, 4. respectively. The ine through A

perpendicular to the Jine BC intersects BC at the point D,
{a} Show thar e equation of BC is
x—4y+11=0,
and Find the squation of AD.
(b} Show that the coordimites of D are (1, 3).

{c} Tind the length of D,
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{d} Thefine ADis exendad o Esotha

@ The poiats A, B, C are such that A B heve coordinei=s 1,55 7 )

mid-point of AB. The line Lis the perpendicular bisecios of AB.
() Findthe gradient of AB.
(b} Tind the coordinares of C.

{c; Show that the equaton of Lis

(4 Theline Lintersecis the T-axis at the poin D,
(i) Find the coordinates of D,
(i) Find the lengrthof CD. .
GiH) Tiadthe value of an TAD.
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(3 Thbepoins 4,3, C have coordinates (-11, 103, (-5, 12, G, 8) respectively.

The Fne £ ; passes through the point A and 18 parallel to BC.
The tine L, pasges through the point Cand 28 perpeadicular 1o BC.

{a) Find the gradient of BC.
(bj (@) Show that L, has squation
x+23-9=0

(#) Findtbe equaton of La.

{c) ThelinesLjandL; intersect at the point D,
() Sbow that D has coordimates (1,4}
(i} Findthe lenghh of BD.
(i) Find the coordimares of the mid-point of ED.

2

Jan 10




